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QUESTION 1

Which two IP addresses are considered Martian addresses? (Choose two.) 

A. 0.0.0.0/8 

B. 192.168.0.0/8 

C. 240.0.0.0/4 

D. 169.254.0.0/16 

Correct Answer: AC 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/recognize-martian-addrrouting.html 

 

QUESTION 2

Which two statements are correct about the BGP MED attribute? (Choose two.) 

A. BGP uses the MED value when peering to two or more connections to the same upstream AS 

B. BGP routes require the MED attribute be defined 

C. BGP uses the MED value when peering to two different upstream ASs 

D. BGP assumes the MED value to be 0, if not already defined 

Correct Answer: AD 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/med-attribute.html 

 

QUESTION 3

Which two high availability features preserve interface and kernel information during reconvergence? (Choose two.) 

A. graceful restart (GR) 

B. nonstop bridging (NSB) 

C. nonstop active routing (NSR) 

D. graceful Routing Engine switchover (GRES) 

Correct Answer: CD 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, which statement is correct? 

A. Routes from 10.1.1.1 are less preferred than the default local preference 

B. Routes from 10.2.2.2 are less preferred than routes from 10.1.1.1 

C. Routes from 10.3.3.3 are less preferred than the default local preference 

D. Routes from 10.1.1.1 are less preferred than routes from 10.2.2.2 

Correct Answer: B 

 

QUESTION 5
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The IPv6 Neighbor Discovery Protocol (NDP) performs the same function as which two IPv4 protocols? (Choose two.) 

A. ICMP 

B. ARP 

C. DNS 

D. DHCP 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/ipv6-neighbordiscovery.html#:~:text=N
eighbor%20discovery%20for%20IPv6%20replaces,Discovery%20protocol%20 (NDP)%20messages. 
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